AE Series

Planetary Gearboxes

High Precision
High Speed
Stainless

B e

21 Gear Ratios(i)

AE Seriese £21=0| SHH{Zo2 TAMEH 7 Frame Sizes

QU0 7 Frame 2159 Gear Ratio2 F-4=/0f

olaLICt AEO50 AEQ70 AEQ9Q0
AE120 AEIB5 AE205
AN EZELS)

* AE Seriese 2= Key typet AMSILICH

15h 2

3/4/5/6/7/8/9/10

2%t 24
15/20/25/30/36/40/45/50/
60/70/80/90/100

% AE Series

Z
=
id
=
=]
=z
[*.]
[
5
@
z
>
==
)
o
@




_HIGH PRECISION PLANETARY GEARBOKES

_RE Series

_APEX DYNAMICS KDRER INC.

Specification

_Gearbox Performance

Model No. | Stages | Ratio | AE0O50 | AEO70 | AEO90 | AE120 | AE155 | AE205 | AE235
3 20 55 130 208 342 588 1,140
4 19 50 140 290 542 1,050 1,700
5 22 60 160 330 650 1,200 2,000
1 6 20 55 150 310 600 1,100 1,900
7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
15 20 55 130 208 342 588 1,140
20 19 50 140 290 542 1,050 1,700
Nominal output torque T, Nm 25 22 60 160 330 650 1,200 2,000
30 20 55 150 310 600 1,100 1,900
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
2 45 14 40 100 230 450 900 1,500
50 22 60 160 330 650 1,200 2,000
60 20 55 150 310 600 1,100 1,900
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 9200 1,500
100 14 40 100 230 450 900 1,500
Max. output torque T, Nm 1,2 3~100 3 times of nominal output torque
Nominal input speed n,, pm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. input speed n,, rpm 1,2 3~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
. 1 3~10 =8 =8 =8 =8 =8 =8 =8
Backlash aremin e e e e e e e e e )
Torsional rigidity Nm/arcmin =~ 1,2 3~100 3 7 14 25 50 145 225
Max. radial load F,q2 N 1,2 3~100 702 1,377 2,985 6,100 8,460 13,050 8,700
Max. axial load F,;2 N 1,2 3~100 390 765 1,625 2,350 4,700 7,250 4,800
Service life hr 1,2 3~100 20,000=
. 1 3~10 z97%
gl i 2 15~100 >94%
Weight kg 1 3~10 0.6 1.4 3.3 6.9 13 31 53
2 15~100 0.9 1.6 4.7 8.7 17 35 66
Operating temp ‘c 1,2 3~100 -10°C~+90°C
Lubrication 1,2 3~100 synthetic gear grease (NYOGEL 792D)
Degree of gearbox protection 1,2 3~100 IP65
Mounting position 1,2 3~100 all directions
Noise level (n,=3000rpm) dB 1,2 3~100 =56 =58 =60 =63 =65 =67 =70

—Gearbox Inertia

3 0.03 0.16 0.61 3.25 9.21 28.98  69.61
4 0.03 0.14 0.48 2.74 7.54 23.67  54.37
5 0.03 0.13 0.47 24 7.42 23.29  53.27
6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48  50.97
8 0.03 0.13 0.44 2.58 7.07 22.59  50.84
9 0.03 0.13 0.44 2.57 7.04 22.53 50.63

10 0.03 0.13 0.44 2.57 7.03 22.51 50.56

15 0.03 0.03 0.13 0.47 2.71 7.42 23.29

20 0.03 0.03 0.13 0.47 2.71 7.42 23.29

Mass moments of inertia J, kg - cm’ 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29

35 0.03 0.03 0.13 0.47 AT 7.42 23.29

40 0.03 0.03 0.13 0.47 2.71 7.42 23.29

2 45 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51

60 0.03 0.03 0.13 0.44 2.57 7.03 22.51

70 0.03 0.03 0.13 0.44 2.57 7.03 22.51

80 0.03 0.03 0.13 0.44 2.57 7.03 22.51

90 0.03 0.03 0.13 0.44 2.57 7.03 22.51

100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

1. Ratio (i=N,./ N,,,} 2.F,q * F.. applied to the output shaft center @ 100 rpm
* 81 service life 10,000 hrs (S1: H42H) 2.Fyp Fpp 8545 100rpm & SuSS7I) 2512Y




APEX DYMAMICS KOREA INC.
TR Y >

o

B>

_1eas

EE)
co
L2 L8 cg
L3 L1 c1n
o | c10
i | "
=5 :l_|.
.|
1&:
] B . =
P~
A E Al de=d - - L L _|_ Ly i
88§ 8§ I
L | m
|8
1
1 \_
L4 C L
ca
B1 e L6 L5

AE120

AE155

Dimension
D1
D2
D3 s
D4 e
D5
D6
D7
D8
D9
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
c1
c2
c3
c4’
C5° cs
ce’
cr
cs’
co’
c10°
c11’
B1 ne
H1

44
M4 x0.7P
12
35
22
M4 x0.7P

47
3.2
10
46
M4 x0.7P
=11
30
30
3.5
48
19.5
91
13.25
19.5
4
14

AEO70 | AE090
62 80
M5 x 0.8P M6 x 1P
16 22
52 68
22 30
M5x0.8P  MB8x1.25P
70 104
70 90
53.4 77
- 33.5
36 46
6.5 8.5
1 1
25 32
2 3
10 12
62 80.5
4 6
12.5 19
70 100
M4 x0.7P M6 x 1P
V5147516 ?s19/524
30 40
50 80
4 4
60 90
15 17
113 143.5
9.5 10.75
33 35.5
5 6
18 24.5

108
M8 x 1.25P
32
90
40
M12 x1.75P
130
120
102
38
70
17.5
1.5
40
5
16
97
9.5
28
130
M8 x 1.25P
=32
50
110
5
115
19.5
186.5
13
46
10
35

140
M10x 1.5P
40
120
75
M16 x 2P
162
155
125
50
97
15
3
63
5
20
119.5
12
36
165
M10x1.5P
=38
60
130
6
142
22.5
239
15.5
53.5
12
43

[unit: mm]
AE205 | AE235
184 210
M12x1.75P  M16x 2P
55 75
160 180
95 115
M20x2.5P  M20x2.5P
205 260
205 235
160 205
- 70
100 126
15 18
3 3
70 90
6 7
22 28
159 175.5
15 15
42 42
200 235
M12x1.75P  M12x1.75P
=48 s55
113 116
114.3 200
6 6
180 220
57 63
316 364.5
48.75 53.5
107.5 106.5
16 20
59 79.5

1)AEQ702] ratio 5, ratio 100lA C3<162 option®LICl. 2)AE090 ratio 3~102] C3=24= TICN coating $40| 2H&0{ ZLICh
3)C1~C12 HEZEof w2} chHELIch X&) Sul0IX] www.apexdynakorea.co.kr2 F&3H kS, CIXIR ToolS 0123810 X152 22Ig4 AsLich




_HIGH PRECISION PLANETARY GEARBOKES

_RE Series

_APEX DYNAMICS KDRER INC.

- L4
. . o
Dl&lsmns (2-stag 00) A
oot
OIEfEIX|F=(C1~Cl1)i= REIAIYOI et CHE(SHE oA FE)
c9
L2 L8 c8|
L3 L1 c1
L7 C10
i s
=i L
] -
sede (= e e
I | 18
1 \
L. l_ce
C4
B, L6 L5
D6 L9
#D3 L10
[unit: mm]
Dimension | AE050 | AEO70 | AE090 | AE120 | AE155 | AE205 | AE235
D1 44 62 80 108 140 184 210
D2 M4x0.7P  M5x0.8P M6x1P  M8x1.25P M10x1.5P M12x1.75P  M16x2P
D3 s 12 16 22 32 40 55 75
D4 s 35 52 68 920 120 160 180
D5 22 22 30 40 75 95 115
D6 M4x0.7P  M5x0.8P  M8x1.25P M12x1.75P  M16x2P  M20x2.5P  M20x2.5P
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
D9 45.5 45.5 53.4 77 102 125 160
L1 61.5 - 33.5 38 50 - 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 74 87.5 113.5 138.5 176 214.5 260
L9 ) 4 6 9.5 12 15 15
L10 10 12.5 19 28 36 42 42
e 46 46 70 100 130 165 200
c2' M4x0.7P  M4x0.7P  M4x0.7P M6x1P  M8x1.25P M10x1.5P M12x1.75P
c3 =11 Vs11/ 512 2314/ sB85/516 9519/ 524 =32 =38 =48
c4' 30 30 30 40 50 60 113
C5'cs 30 30 50 80 110 130 114.3
cs' 3.5 3.5 4 4 5 6 6
o 48 48 60 90 115 142 180
cs' 19.5 19.5 15 17 19.5 22.5 57
co' 118 143 174.5 225.5 292.5 337 443
c1o’ 13.25 13.25 9.5 10.75 13 15.5 48.75
c1’ 19.5 19.5 33 35.5 46 53.5 107.5
B1ne 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5
1)AEQ702] ratio 15~5001M C3=12= optionILICt, 2)AE090MIA ratio 15~500A C3<15.875, C3<162 option&LIch
3)AE120 ratio 15~1002] C3=24= TICN coating 40| 2HS0LICE
4)C1~C112 HEBRE{ol| m2} CHELICEH X2 EH|0IX| www.apexdynakorea.co.kr2 E4sh! CH, CIAIR! ToolE 0185101 Zl&-E i2lEs AUSLICH




F, Radial Load
F,, Axial Load

| B

4 51855t

700{8tA EHAZEC) 20|
W12l Aol ofah ZPELIC

=

e

9 5i8Fst= 7I0AE XIX|5h=

HAE 20 $EEZE EH0ig2 A8t L
KA EH0{Z2 20[c/B & Y| 1S Folole 42 4+ QIEUL,

U&7| FHAE BN WE Z47| HS=H0I0Y 8F P2

Olly AE0S0-0102] 2T MoICIYEHES 2985N0ICHE 3150 B2 FEZ0/9| /28N Z2)

SEYSLEI} 2500rpm0fH 27| EHEAEE 250pmizsy] 1107|E)

OF2 JATOM 2647] FRSA} 250rpmE SHSAOICI SHES 2 230N

100,000
. 60,000
z 40,000
—
g2
WS 20,000
g [
S 2 10,000 e

o —————— T
T2 6000 == & “""'/-:Ezzgir‘s
B8 400 —— T AE155
x o ’ — ——¢ AE120
TE 2000 Sy
E 5 'Hjt ""'--....___‘./‘ AE090
€S 1000 =
=2 [Tt AEOT0
E o ~] | ~——
e AE050
300 e
10 20 200 400 600 1000 2000

Output Speed n, [ rpm ]

Kok 2folCigel & Fx0l 24
NEZE ZA0 7tiE 39
X=1/2 x Lo| Euct,

Cifet SERASIME +H2
*20,000A 12014 Z2FBiLCt
0| si8Fok= A% =x0f
BAE Q&L

= EHSE U2 2 M8
St AlbE 4 QUELIC
Faae=0.2 X Farg

Foaoe=0.1 X Fors

1

APEX DYNAMICS KOREA INC.

FEEREEHY L0

5150 2etRl= 4% SAHEl WE 247) sEelolciZatEe wa

Olly AEOOC-0108] ZIci|0C/ YIS 2 29858, (AE030-0102) SnattZl0l= 38mm0l, SHS0| Snatt STHAIENImmION 7S B Jtairlz

StE2| SIRI7HOmm?} 0! SommAFEd47| EHHOE SE0RIM Knd| 2/0] 0680] B0t &) 2{0ICIEEHES 2085 x 068 = 2060NSE 24,

ATHHI0] A S1SFeHe 22 Oft U B SEE 2447] M58 Yl DAl cleld % mAle 3OS HRiCH

15
14 )

2 13

= 1.2 T

‘§ 1.1 \‘

= 1.0 ~NANN A

g 0.9 \\:\\‘\\

e 08 NN

S 07 — AN\\X /

K3 0s \v‘%?* N

= 05 q = e
0.4 N I~ '--..r""'---...__
0.3 11> - Pl g ] et

0 40 80

+51 service life 10,000 hrs
(S1: B&£27)

240 280 320 360 400
Position X[ mm ]

AE050
AE070
AE090
AE120
AE155
AE205
AE235

ore Yo|cY & Fy0] EHAZ
E9| 40l JIHRIX| R=CiH
X{1/2X LEE X)1/2x LO| ElLiC
S8 o0 =9 o=
A% TH Z0| HX| Hofei
O Kpol 2ol AME & AsY
cf,
glo|oig sk

F aB=KpXF2rB
&80k FoaB=02XF 28

F 2a28=0.1XF 218




I
Mo
kL
In

AE070 - TR - MOTOR

z47| g HERH

AE050, AE070, AE090 Manufacturer, type
AE120, AE155, AE205, AE235 and model

Zs |

1 Stage: 3,4,5,6,7,8,9, 10
2 Stages: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 80, 90, 100

_HIGH PRECISION PLANETARY GEARBOKES

_RE Series

_APEX DYNAMICS KDRER INC.

—Front plate option

[unit: mm]

Dimension

AEO050-NEMA 23 66.675 6 77 38.15 57.2 2 8 18.5
AEO050-PX60 70 5.6 80.5 50 60 2.5 8.5 18.5
AEQ70-Metric 90 6.6 106 50 80 3 1 28
AEO070-NEMA 34 98.425 5.6 115 73.08 86 2.5 8 30.5
AEO070-DT90/PX90 100 6.6 120 80 90 3 8 31
AEQ090-IEC 63D5B5 115 9 140 95 105 3 10.5 38.5
AE090-NEMA 42 125.73 7 144 55.58 107 4 14.5 35.5
AE120-NEMA 56 149.225 6.6 170 114.3 127 3 17.5 55.5
AE155-B5 175 1 196 130 160 5 20 82
AE205-B5 230 13 277 180 210 5 23 82
AE235-B5 275 i/ 317 235 240 5 23 108




APEX DYMAMICS KOREA INC.
SRR HY 2]

True Helical Gear Design 2

7|1 o]Yztel EE0| AT tiH| 33% 0o =0t
EF 222 244 UZ 0 EA A=FZE Uy
HE YEMMT Ha5ln 2BE 2H s,
(Backlash < 8arc—-minules, Noise = 56dB)

Solid uncaged needle roller bearing =&
Yzet T HoZx4E 5 & U0
T2 1E3 FMAE0 HEES IHE

HeliTopo technology 2 HE6HH £2 7IHA5S 71
7|0 crowning & S 7|0 FEHSD SHUS
O|2¢al JIHEH HEES 3 -

ZtAfol plasma nitriding &2 HHIE AF B2
Jloje] ARET= 30 HRe & SAISHHA 7)o BHACE
840Hv THX| =01 LjntR N 2 IS HNS M B,
Eft M2Yx2| Walo|2t x2S B30 Ao ¢S,

One piece planet carrier with extended bearing
CIX2IZ 2o|t|gets 8dE SUE A7
MARS HEot ZHE BY

NEW - E& =l output sealing systems design £
EF0| QUM SiE= 220 s0jel= 3FHRIEHH
A L2 20 2Y2(3E YAlEln +HE JiEE

(= 3700 Hy, Z=: Rq 0.2 yim)

i}




E& = planet carrier design 2
M7 HoES SR ARl 2ol 522
7ol 26EE B0 5E HEEE ¥S

15 BHRER

Nyogel 792D (smart grease)
Aigalt 2% FR= YAlsin
FAEL7E 2R g

200 HH S
HLT 2riiet 2T
o &di

o @

input sealing system design 2
o SEe S0 Stoles 28 AzlE
= E F435lH 2Ya|38

ng
o

=
=
, =R

Q
S
[y
2

Triple split collet with dynamic balanced set
collar clamping system £ Saij¢| 2 gl S2HA D}
STBAE AHE| M L8 100%0 SHE 2E2
=2 UE&i M HaE 2UE 2

D TCE

OFEE EZa0 24 IEAAHEECR
HMA 2E MERER HE2ts,

Adapter - M 0l=CHO|EAZ|

Watzaes, Rhag Mol

Helical internal ring gear
sIRE LML FIZE0| o WHT 7|0{
Sigste 450 E38EE &

i r1o

E=




